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18U/117/8(i)
No. of Questions : 150

gyt &Y doaT ; 180
Time : 2 Hours Pull Marks : 450

w3 wee , QoI : 450

Wote : (1) Attempt as many questions as you can. Each question carries 3
(Three) marks. One mark will be deducted for each incorrect
answer. Zero mark will be awarded for each unattempted
questior,

AR TE A B TR W A W) TS A 3 ()
s} = X1 ydw vow JUT & Y ow Siw wIer o)
NI AR WeH W AVRE Y7 W,

(2) If more than one alternative answers seem to be approximate to
the correct answer, choose the closest one.

g writes YEites sov aft a3 & Free st &, @ Feeaw

a8 I )
01. In a landmark ruling on 15" April 2014, .......... allowed transgender
people to identify as third gender.
(1} Delhi High Court {2) Madras High Court
(3) Bombay High Court (4) Supreme Court of India
15%. e 2014 & d=wmm &fRtT A ... FFEART A (I
RAf) @it @1 et R & T 7§ geera W@ o & ¢
(1) R Iom <A 2) WENH I ANy
(3) g Iea A (4) WRT & TJeguH A

3 : ’nr-Ot
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03.

08,

The Parliament of India has passed ......... Constitution Amendment

that will facilitate setting up of a Commission for. appointment of
Supreme Court and High Court Judges.

WG & @6 A Ivaan e o 9 e § =ranfist @
Prafer 39 oMt w9 & G weies o Rear -
(1} 99* (2) 100% (3) o8 (4) o7»

crrssarenenneeenn, NAS become the 18% country to join the euro zone on
January 1,2014.

(1) Lituania (2) Latvia
(3) Cyprus (4) Greece
% ...... 1598 2014 | U 9 F wfwfaa &Y amn 18ai 2q
(1) Ry (2) el
(3) WRENY 4) IHH
. Matteo Renzi, 39 became youngest ever Prime Minister »f -
(1) Germany (2) England
(3) Iltaly (4) Brazil
A T, 30 wEH BH S0 B Tedt g HAl ...l 20 D B
(1) <h (2i ZETR
(3) zeeh (4) i
Name the author of Train to Pakistan’.
(1) Khushwant Singh (2) M.J.Akbar
(3) Jaswant Singh (4) L.K.Adwan:
%
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Fy g MR B e @ AW R
{1} gudy He (2) THoHAo IHAT
(3) srmaq foe (4 THodo omeaTh

Name of the author of ‘Light On Yoga' who was also conferred the
Padma Vibhushan in 2014.

{1) Baba Ramdev

(2) BKS lyenger

(3) Sri Sri Ravishanker

(4) Paramhans Swami Maheshwarananda

‘TEe AAF AT B TP & AW et B 2014 F ogw Rrguer o
12 R O

(1) @ R (2) NoFHoTHo MR-

3) =t st TaeiwT (4) TTHEE Wil HRIERTR

Woria -Envimnmcm Day is observed on:

frsy oo Pad WA R B

(1} 05" June (2) 15" June
(3) 25" June {(4) 30* June

As per the latest ‘State of Forest Report’ the forest cover in India is:

(1) 26% of geographical area (2) 21% of geographical area
(3) 16% of geographical area (4) 31% of geographical area

vz o wieE Rdte” & Sge aia § ST 8
(1) 9 &F & 26 "R (2) 9 &5 H 21 ofaed
(3) 9 & H 16 Afdw™ - (4) g = T 31 ufaeE

s P.T.0.
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09. Name the biggest State of the world in terms of geographical area :

(1) U.S.A. {2) China (3) Canada (4) Russia
1h$m%m$mmm_mmm:
(1) JoT¥oWo (2] o+ (3] TS 4) &9

0. 23?5’ the country that became the largest arms-importer in the year
{1) United Arab Emirates (2} India
(3) Pakistan (4) cChina
Tt 2013 % favm ¥ TR T g wEHN oTAT HYY A R G -
T et B
(1) TE2® W A (2) W
(3) iR . (4) =9

11. When was the first all India Postage Stamp issued?

WY 9Fn qRX wWry Prfy Brar Ty of

(1) 1734 (2) 1854 {3) 1954 (4) 1794

12. Sashi Tharoor’s ‘' The Great Indian Novel uses the pl
Mo il ¢ plot of an epic.
{1) Ramayana (2] Mahabharata

(3) The Chuming of the Ocean (4) The Life of Ganga

:ﬁ!mmﬂlﬁm“f&hlﬁmwm&w’ﬂm#mﬁﬁﬁﬂ

(1) A (2] wWEMRE
B) T T onE R ST (4) y omew e
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13. Who is supposedly the author of the Indian tales Kathasarit Sagara ?
(1) Premchand (2) Jaishankar Prasad
(3) Nirala (4) Somadeva

Wﬂmﬁﬁmw%mmmmﬂm
(l)"s‘mw (2) T qAR
@) Foen 4) dedg

14. How many members does the Election Commission of India have?

A o ¥ Rred s e ¥ 7

(1) 2 2) 3 @ S 4 7
15. Name the first Indigenously made 70 mm film of Indla:
(1) Sholay (2) Raja Harishchandra
(3) Devdas (4} 1942-A Love Story
70 Hodlo W WEY Ueeht wehy frer v W g
(1) o (2) Tom sRNER
(3) FETH (4) 19427 33 &
16. Which of the following s the city of eternal hope ?
(1) Rome {2} Paris
{3) London {4) New York
DT § BT W AT A BT o] wer oy X 7
1) I 2) ¥Ww
(3) W& 4)
17. Which of the following is a part of the Human small intestine ?
(1) Duodenum {2) Tleum
(3} Jejunum (4) All the above
7 2.7.0.
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18.

19,

20,

Frss d | ar waw & @R ofv m apr 8 9

(1) “rEr=TH (2) o
(3) - FAGETT (Hemv=) (4; IUTEA Wi

Which Pakistan General signed the instrument of surrender th
. at
ended the 1971 (ndo-Pak war?

(1) Lt. Gen. A.A K. Niazi (2) Gen. Mohd. Musa
(3) Lt Gen. Gul Hassan Khan (4) Gen, Mohd. Zia-ul-Hag

1971 % WA TG gE R, wfree @ Rew 8 a3
i T IR ST W geame Prar o ?

(1) do SFRm Taa. Pash (2 S AIESE qAl

(3) To IATH YH BHA WA (4] ST e -3 -5
Name the lungest bune i hunar body

(1) Tiha {2) Fibula
{3] Femur # Patella

3 A & Qaa Jall es§ & 0T gad

(1) Fefam (2) forgem
() (4) ofesr
Name the person who invented the World Wide Web:
(1) Cerf (2) Postal
(3) Tim Berners-Lee (4} Tomlinson
‘a&ém&a*%wﬁwwmﬁiﬁm:
(1) % | (2) oS
(3) fom seg-aft (4) DR+
8
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21. Name the person who was appointed as the first Vice- Chairman of

NITI Aayog. |
(1) Arvind Panagariya (2) Jagdish Bhagwaty
(3) Amartya Sen (4) Rajnath Singh
ARy ST B GEd TEd .. SR @ AW 9
(1] R= qHEARAT (2) ST Wt
(3) Iwd | 4] TIE 4
22. When was the United Nation Founded ?
(1) 24® Oct. 1993 (2) 24™ Oct, 1944
(3) 24% Oct. 1945 (4) 24% Oct. 1946
HyF g Y A WA wE gR 4t 7
(1) 24™ srEgET 1993 (2) 24" IFZEAT 1944
(3) 24" ITFTHT 1945 (4) 24" FFTEI 1946
BB s is the National Flower of India.
(1) Rose (2) -Palash
(3] Marigold (4) Lotus
.......... R B TS FA 8 ¢
(1} I (2) <™
(3) AheE 4) FAA
24. Which is the largest State (Area wise) in India ?
(1) Uttar Pradesh (2) Madhya Pradesh
(3} Maharashtra (4} Rajasthan
SRl B ATER W & WA T 0N AR
(1) I SR (2) T R
(3) AT 4 TITRMHA
9 P.7T.0.
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25.

26.

27.

28.

The El Nino'is a .................... phenomenon,

(1) Philosophical (2) Astrological

(3} Climatic (4) Industrial

(1) =vstfomm (2) @M=

(3) SIearg W (4) Shenfen

Indian men's hockey team won the gold medal in the year 2014 in

which of the following ?

{1} Asian CGtames (2) Common Wealth Games

{3} Olympic Games (4} Both (1) and (2]

CIEGEE 3 :

i m%ﬁﬂ’l I 81 A9 2014 ¥ wyof gz Py F ¥ Bead wrey
(1) ufggm =y (2) HHA Joyg A7

(3) INafqe (4) IR (1) ue (2) §

Who won the first squash gold medal for India i
e Wy ia in Commonwealth

(1) Dipika Pallikal (2} Joshna Chinnapa
(3) Saurav Ghosal (4)° Both (1) and (2)
FHAATY T F ved =W Wl qem Rdar @29 &7

(1) R fecrs (2) e =T

(3) WY ONE (4) ST (1)@ (2) §

Find the correct fact (8) about Mars:

(1} The polar ice caps on mars grow and recede with the seasons
(2] Mars has the largest volcanic mountain in the solar system |
(3) Both (1) and (2)

(4) Mars has global magnetic field

10
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doe wE & @ A W IR B
(1) T W 9T GIeK STEE 29 Agel B oy 9gd ofrT wed ¥

(2) mmwwmﬁmﬁww@@m%ﬁ%
(3) IgoEa (1) T (2) & |

(@) T e qT gHTen peha /% ¥

29. Which of the following Android version given below is version 2.0 of

Android OS. |
(1} Eclair (2) lce Cream Sandwich
(3) Jelly Bean (4) Kitkat
By § ¥ A-T TIES qdH, TERE 0S H T 2.0 B
(1) FHNAL 2) ongEeH fsfaw
3) SRt & 4) Rrede
30. The Reserve Bank of India (RBI) gave its nod for new bank licences to:
(1) IDFC () Bandhan
(3] Both (1} and (2} (4) LIC Housing Finance

ﬁﬁéﬁmmgﬁmmn%wﬁﬁmﬂm@aﬁﬂa@ﬁ
ﬁ'

(1) oTEcfoumHowio

(2) FEF

(3} IudEE (1) Td (2) At &t

(4} THoITROHIO ErfT wEAd 4

' tream of a river and 02
31. A man takes 03 hr to row a boat 15 km downstrea
hr 15 min of cover a distance of 6 km upstream, Find the speed of the
river current in km/hr.

(1) 1.0 km/hr 2) 1.5 km/hr
(3) 1.7S km/hr 4) 2.0 km/hr

11 P.T.O.
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O ol ) # 9T o Rem ¥ 03 g2 § 15 fhoifio 71 Qar 2
AR 4 A IA R F 0262 15T F 6 Fpo Mo g Qay ¥
Wﬁﬂﬁﬂmﬂaﬂm(ﬁl‘iaﬁo/ﬁm):

(1) 1.0 Rdto /ga (2) 1.5 Rt /g2y
(3) 1.75 fpedto sd=y (4) 2.0 RBfo gy

32. A water tank can be filled by taps ‘A’ and ‘B’ in 18 minutes and 27
minutes respectively, A third tap ‘C’ can empty this tank completely
in 13.5 minutes. If all the three taps are turned on at the same time
find the time taken to fill the water tank.

(1} 18 minutes (2) 42 minutes
(3) 27 minutes (4) 54 minutes

%Waﬁmtﬁaﬁrmiaqﬁsjmﬁwm#lﬁa
méﬁlaﬁﬁqdwsmmz?ﬁwﬁwwm%:
wﬁmchaﬁ%ﬁﬁmq‘?mﬁﬁhéﬁ%w
a%w.aﬁazirgﬁmwmﬁmm%lmﬁﬁﬁm
w@af&wmrﬁa‘aﬁfmﬁmﬁﬂhﬁ?

(1) 18@A= 2) 42 e  (3) 27 PRFe (4) 54 e
33. X’ borrowed Rs. 10,000/~ from two different Banks. For one loan he

paid 12% and for other 14% Per annum. After one year, he paid
Rs.1280/- as interest. How much did he borrow at the rate of 14%.

X7 3 ¥t A 10,000/ &94T e foram ) T @ @ R 9@ 129
'mhmeﬁ?@%maﬂlmwﬁmmiwaﬁ%
SYURT I YT & a9 7 1280/ wo 3N yB | IR 14% sferad =rw
aﬁﬂmﬁﬁ?ﬁﬁaﬂ%ﬁmmwf%m?

(1) 4000 (2) 6000 (3] 5000 (4) 4500

12
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34. A father is seven times the age of his son. After 3 years, the fathzr's
age will be five times the age of his son. Find the present age of the
father.

o R T gF ) & QT & 8| F ad & S
Eﬂmﬁﬁmgg?ﬂma%gﬁﬁa%mﬁggﬁmﬁHﬁaéﬂﬁaﬂ
|

(1} 21 (2) 28 (3) 35 @) 42

38. Divide Rs. 2760/- among X, Y and Z, so that the amount X receives is
five times as much as Z' s share and is three times as much as Y’s
share. Find the amount received by ‘2.

2760/ 1 A AP 7 X,Y,2 % 99 §9 9FR T B X, 2 § 99 W
mm&ﬁ@vﬁmﬂmmﬁlzmwﬁﬁm#
TORT BT |

(1) 1800 {(2) 3a0 (3) 600 (4) 400
36. In the series 355, 361, 367 ...... , what will be the 10* term ?

358, 361, 367 ......, yEm H 10 & g = R 7

(1) 405 {2} 397 (3) 403 (4] 409

37. Find the missing number in the series:
7., 63, 124, 215
7,.63,124, 215 sjEm # g8 gh S R R 7

(1) 26 (2) 19 (3) 28 (4) 21
38. Which term comes next in the senes; YEB, WFD, UHG, SKI............. ?
ST YEB, WFD, UHG, SKL............. # e o T g ?
(1) TOL (2) SKI (3) SLH (4) QOL
13 P.T.O.
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39,

41.

42.

Orthopedist is related to Bones in the same way as Chiropodist is
related to ............

(1) Nails (2) Sounds

(3) Feet (4) Heart

“ImeRiEE B e sRE § 9 @ @ 3 g CRiaRe
T AT 8 '

(1) -9 (2) eafer

(3) ¥ . 4) Rs

Flower is related to Petal in the same way as Book is related to
{1) Page (2) Content

(3} Author (4) Library

Rra g & & 9@t wafua ¥ oEt g gwrs aetaa @
(1 9= (2) 2= (favg =)

(3) I@H (4) gEHINg

Choose the member which is different from others in the group ?
Frafeaa o § 4 39 aF & g3 St 999 a1 Bt ?

(1) 8314 (2) 2709 (3) 1315 (4) 2518
Four friends V, X, Y and Z are playing a game such that the looser

doubles the money of each of the other player. They played from
games and each friend lost one game in alphabetical order. At the

end of fourth game each friend had Rs. 32. Who started with the
lowest amount ?

i R VX, YQF Zush T |G @ § Rl erd g are Raanieat
B A B T IA ¥ I A ol spArET ol Raerd oF
T B B A T D o= X A Rl B i 32%, w9 oo B

Ree Remmdt 7 =em ofer & T ogw A ot ?
() v 2) X 3) ¥ 4) Z

14
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43.

45.

47,

18U/117/5(i)

Choose the animal which is least like the other animals in the group.
(1} Zebra (2] Lion (3) Tiger (4} Horse

Prfrian 7 o Ea g o 19 g # RAER o9 neET B T
qEx ST

(1) =B 2) ¢ (3) & (4) =T
Choose out the odd one :

(1} Arrow (2) Missile (3) Sword (4) Spear
Pr & & oraTa = fafea &Y

1y @K (2) PrEEs

(3) AR (4) AT /TS

In a certain code, TEACHER is written as VGCEJGT. How is CHILDREN
written in that code ?

377 TEACHER @ f5dt s ¥ VGCEJGT frem sna & CHILDREN
H WS B 7

(1] EJKNEGTP (2] EGKNFITP
(3) EJKNFGTO (4) EJKNFTGP

In a certain code, BREAKTHROUGH is written as EAOQOUHRBRGHKT.
How is DISTRIBUTION written in that code ?

SFTIY BREAKTHROUGH F' fFpelt & i’t EAOUHRBRGHKT foram I
&t DISTRIBUTION 1 &S Far P 7 ,

(1) TISTBUONDIRI {2) STTIBUONRIDI
(3) STTIBUDIONRI (4) RISTTIBUDION

1f NARGRUED is the code for GRANDEUR, which word is \coded as
SERPEVRE ?

% GRANDEUR %! E¥E NARGRUED ® @ SERPEVRE &1 HE
(1} PERSEVER (2) PRESERVE

(3) PERSERVE (4) PREVERSE

18 | P.T.O.
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48. If E= 5, PEN=35, then PAGE=?
STIY E= 5, PEN=35, & @ PAGE=?
(1) 27 (2) 28 (3} 29 (4) 30

49. Pointing to K, N said, *He is the son of my father’s only son”. How is
K's mother related to N ?

(1) Daughter (2} Aunt
(3) Sister (4) Sister-in-law

N%Kaﬂéﬁamgqm“wﬂ%ﬁm%mmgawga%
K & 5 & N & aa1 woeey & ?

1) = (2) AT (3) & (4) =ThH

30. A and B are brothers. C and D are sisters. A’s son is D’s brother. How
is B related to C ?

(1) Uncle (2) Father
{3) Brother (4) Grand father

A@BﬂﬁaﬁTCWDﬂﬁtlaﬁgﬂDWﬂﬁﬁlec
] 7 g B 7
(1) = (2) Ry 3) g (4)

51. The present Chairperson of the National Green Tribunal is :
(1) Justice A.S. Anand (2) Justice P.N. Bhagwati
(31 Justice K.G. Balakrishnan (4) Justice Swatanter Kumar

AU A Regme & Sy ¥
{1) =marfisr Qoo o= (2) rarfiyr flotvo waHH
@) =i oo A (4) iy @@ HAT

16
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52.

53.

15U/ 117/58(i)

Moot in law schoois, are :
(1) Exercise of law teaching

(2] Legal problems in the form of imaginary cases, argued by two
opposing students before a Bench pretending to be a real court

(3] Imaginary classroom where a student acts as a teacher
(4] A debate on a legal problem

Rty et & g W Y B ¢
(1) fafer Rew = wdm &N

(2) SO 3 HE-W @R AW WA { B e & S
Rrasf quit ¥ ax-fFam

[3)‘qmaﬂmﬁmmmwm,maﬁtgﬁwﬁﬂﬁ%
(4) T RAfts gsar W ae-Fa

Public holidays are declared under :
(1) Criminal Procedure Code (2) Civil Procedure Code

{3} Constitution of India (4) Negotiable Instruments Act
AR aradielt & amon frg & or=ria s 8 7

(1) = ublkar s 2) fofae aftrenr dftar

@) WRA & diag= (@) I e e

A child born after father’s death is ;

(1) Posthumous (2) Heir

(3) Intestate (4) Bastard

F ge S Ren @ g B S9 Yar dr @ 99 wEd €

(1) 9T&HY (2) MBIz
(3) FTeET (4) RS

17 P.T.O.
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56.

87.

A formal instrument by which one person empowers another to
represent him is known as '

(1) Affidavit (2) Power-of-Attorney
(3) Will (4) Declaration

wF A 9o o RREt gat @ fed o afififae 573 3 R
Jferpa Fear & ;

(1) ofth3fee (2) TEAT-SATH-TEI

(3) &= 4) s

The killing of & new born child by its parents is :

(1) Malfeasance (2) Infanticide

(3) Abortion (4) Foeticide

9 S g @ war-Ren 3o s @ wed B

(1) "R (2) ﬁ%ﬁﬁm

(3) TETEHA (Tviury) (4) TESTEEE (yoTedr)

Which is the First State in India to which passed a law banning black
magic, witchcraft and other superstitious practices?

(1 Maharashtra (2) Bihar

(3) Delhi (4) Tamil Nadu

ARA & HF 999 T8 199 & ey @ (R
T 3 Y RBsarg qU OF vy 2 Ta: R ( )
(1) WErs (2] fEer (3) fReeh (4) afveETg

Section 66 A of Information Technology Act has been declared
unconstitutional by the Supreme Court of India in ?

(1] Shreya Shingal vs Union of India
(2) Shreya Shinghania vs Union of India
(3) Shruti vs Union of Indig

(4) Shilpy vs Union of India

18
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- mmmﬁmmﬁw%ﬁmﬁﬁaﬁmwﬁm

% sraufys s Rar ¥ 7
(1) g HEs I9m 9| @1
2) A9 Fmfar sam @ q@]
(3) HfY =T W QTR
4) et g5\ A @&

Direction: (question No. 89 to 78) Given below are Legal Principle
followed by a Factual situation. Apply the pricnciple to it and select
the most appropriate answer for questions among the four choices
given.

Principle: In order to be eligible to appear in the semester examination,
a student is required to attend, under all circumstances, at least 70%
of the total classes held in that semester as per University rules.

FACTS: Sunil, an economically poar but a very brilliant student of
L.L.B. final semester while going to his University by cycle received
some leg injuries in road accident. Consequently Sunil could not
attend his classcs for one week as he was advised rest by his doctor
for that period. Due to this absence from the University, Sunil failed
to have 70% attendance essential to appear in the examination and
therefore, he was debarred from appearing in the examination by the
University authorities. Sunil challenges this decision in the court of
law.

(1) Sunil will succeed in the court of law as the accident was beyond
his control

(2) Sunil will definitely get favour of the court on humanitarian
ground as he comes from a ¢conomically poor family and may
not afford to take readmission.

(3) Sunil will not succeed as he could very easily fulfil eligibility
criteria for appearing in the examination by being reasonably
regular in the class throughout the semester.

(4} Sunil will succeed as requirement of 70% attendance may be
declared arbitrary and therefore, unreasonable by the court of
law.
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60. Principle: All citizens shall have the fundamental right to carry on
any occupation, trade or business. But reasonable restrictions on
the exercise of such rights can be imposed by law in the interest of
the general public.

FACTS: A large number of &:ersons had been carrying on the business
of dyeing and printing in Rajkot area for the last 25 years providing
employment to about 30,000 families. From these Business places
untreated dirty water was being discharged on the roads thereby
causing damage to the public health. A nofice, therefore was given to
close this business till necessary measures to protect aﬁublm health
gs provided under the environmental statutes were taken by those
usinessmen. '

(1) Notice cannot be justified as it will cause loss of employment to
30,000 families.

[2) Notice cannot be justified as it amounts to violation of the
fundamental right of the persons who have been carrying on the
business for the last 25 years.

{3} The notice can not be justified on the ground of damage to public
health as the persons’in that area have been voluntarily residing
for long and have became used to that environment,

(4} The notice can be justified as the right to business is not absolute

and reasonable restriction can be imposed by law in the interest
of the public.

61. Principle: Whosoever by his act or omission causes environmental
pollution shall be held liable for an[s; loss caused by such pollution, It
shall be no defence in such cases that all due diligence or reasonable
care was taken while carrying out the act or omission in question,

FACTS: Ashish is carrying on a chemical and fertilizer industry near
the bank of river Ganga. [n order to prevent and control'any kind of
harm to the enyironment, suitable waste treatment and disposal plants
were instalied in the factory. Due to some sudden mechanical/
technical problem, these planis ceased to work properly and therefore

caused environmental pollution, which ultimately caused substantial

harm to the environment and to the lpeoplp living around the factory.
Victims of such pollution file a suit for suitable remedy.

(I) Victims cannot succeed as necess recautions to prevent an
harm were taken by Ashish, L P .

(2) Victims cannot succeed as the mechanical/technical Eroblem
was sudden and, therefore, beyond the control of Ashish.

(3) Victims can succeed as it is the duty of Ashish to see that no
harm is caused to the environment/people due to his activity
under any circumstances.

{4) Victims could succeed if treatment/disposal plant were not
installed in the factory.
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62. Principle: An agreement to do an act impossible in itself cannot be
enforced by a court of law.
FACTS: Sagar agrees with his girl friend Sunita to pluck Stars from
the sky through this extraordinary will power, and bring them down
on earth for her within a week. After the expiry of one week, Sunita
fild a suit for damages against Sagar for the breach of contract as
Sagar failed to perform his promise.

(1) Sunita can succeed in getting damages as Sagar has deceived
her

(2) Sagar cannot be held liable as he honestly believes that his love
for Sunita is true and therefore, he will succeed in his endeavour.

(3) The court cannot entertain such syits as the act promised under
the agreement is impossible in itself,

(4) Sagar can be held liable for making an absurd promise.

63. Principle: Qui facit per alium facit per se, i.e., he who does things
through others does it himself.

FACTS: Nidhi, the owner of a car, asked her friend Sumit to take her
car and drive the samc to her office. As the car was near her office, it
hit a pedesirian Prakash on account of Sumit’s negligent driving and
injured him seriously. Now Mrakash files a suit for damages against

Nidhi. il

(1) Nidhi is not liable as it was the negligence of Sumit

(2) Sumit is solely liable as Nidhi was not driving the car

{3) Nidhi is liable as Sumit was driving under her authority and for
her purpose

{(4) Sumit will be exempted from liability under the principle of
mevitable accident.
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Principle: Res ipsa loquitur i.e., the thing speaks for it self

FACTS: Shobha got herselfl operated for the removal of her uterus in
the defendant’s hospital, as there was diagnosed to be a cyst in one
of her ovaries. Due to the negligence of the surgeon, who performed
the operation, abdominal pack was left in her abdomen. The same
was removed by a second surgery.

(1) Surgeon cannot be held responsible because it is merely a
human error.

(2) Surgeon can be held responsible but Shobha will have to prove
in the court of law that the surgeon was grossly negligent

(3) Surgeon will be responsible and Shobha need not to prove
Surgeon’s negligence because presence of abdominal pack in
her abdomen is sufficient proof therefore.

{4) None of the above

Principle: When an act which would otherwise be an offence, is not
that offence by reason of the youth the want of maturity of
understanding, the unsoundness of mind or the intoxication of the
person deing that act, every person has the same right of private
defence against that act which he would have if the act were that
offence. Nothing is an offence which is done in the exercise of the
right of private defence.

FACTS: A under the influence of madness, attempts to kill B.B in
order to save his life causes grievous hurt to A.

(1) A has committed an offence
(2) A has not committed an offence
(3) B has committed an offence
(4) B has not committed an offence
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66. Principle: Whoever by word, either spoken or written brings or
attempts to bring into hatred or contempt, or excites or attempts to
excite disaffection towards the Government established by law in India
shall be punished. However, comments expressing disapprobation of
the administrative or other action of the Government without exciting
or attempting to excite hatred, contempt or disaffection, do no
constitute an offence.

FACTS: A renowned Professor of Law wrote a critical cormment on the
environment policies of the Government of India in a National Daily.
This piece of writing generated academic dabate not only in the print
media but also on television and internet. A student of law asked the
fellow Indians on a social networking website to assemble at a
particular place for peaceful and silent demonstration against the
said environmental policies on a stipulated date and time. The crowd
assembled at that venue and started shouting antigovernment slogans.
Police arrested the professor.

{1) The professor has committed the offence

(2) The professor has not committed any offence
(3) The student of law has committed an offence
(4) The crowd has committed an offence

67. Principle: An unlawful interference with a person’s use or enjoyment
of land, or some right over, or in connection with it is a nuisance in
law of tort.

FACTS: During the scarcity of onions, long queues were made outside
the defendant’s shop who having a license to sell fruits and vegetables
used to sell only 1 kg of onion per ration card. The queues extended
on to the highway and also caused some obstruction to the
neighbouring shops. The neighbouring shopkeepers filed a suit for
following decisions will be correct in this suit?

{1} The defendant is liable for nuisance.
(2) The defendant is not liable for nuisance.
(3) The defendant is liable and not liable for nuisance.

(4) The plaintiffs suit should be decreed in favour of the neighbouring
shopkeeper .
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68. LEGAL PRINCIPLE: Every person is entitled to freedom of conscience
and to profess, practice and propagate his religion subject to public
order, morality and health.

FACULTY BITUATION: Z, a Muslim sacrifices a cow on Bakra-ld
believing it to be a part of his religious rites. However, there was a law
of general prohibition on slaughter of cows. Z was prosecuted for
slaughtering cow.

(1) Z cannot be prosecuted as killing of cow on Bakra-Id has the
Muslim religious sanction.

(2) Z can be prosecuted as the state has a nght to regulate the
[reedom of the religion in the interests of the public order.

(3) Z can be prosecuted as the slaughtering of cow hurts other
community’s religious sentiments.

(4) Z can be prosecuted as the slaughtering of cow is cruclty to
animals.

69. LEGAL PRINCIPLE: A person is guilty of cheating when he

fraudulently induces another persons to deliver the latter’s property
to him.

FACTUAL BITUATION: A falsely represented to B, a shop-owner that
he was an officer from the Commercial Taxes Department. While
examining the accounts of the shop, A showed interest in buying a
microwave oven on installment basis. B readily agreed with the hope
that he would get a favourable assessment from A regarding his tax
liability. A paid the first installment, took the Microwave oven and

disappeared from the scéne. The police, however managed to catch
hold of A and prosecute him for cheating.

{1} A committed cheating, because he induced B to part with the

Microewave oven, posing as though he was from the Commercial
Taxes Department,

{2) A committed cheating, because he did not pay the subsequent
installment.

{3) A did not commit cheating because B handed over the article in
order to get a favorable assessment from A.

{4) A was not guilty of any offence
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»0. LEGAL PRINCIPLE: If there is infringement of legal right of & person,
he can sue under torts for cormpensation even if he has not suffered
any harm or loss of a single penny.

FACTUAL SITUATION: Mr. X, a bank manager refuses to honour a

cheque presented by Y, a customer, He knows that Y has sufficient

funds in his account. Can Y sue X under torts and claim

compensauon?

(1) X has violated legal rights of Y. He can be sued under torts to
pay compensation.

(2) The entire moncy of Y in his bank account is intact. He suffers
no damage. He should get no compensation.

(3) X can plead extraordinary situation in the bank at that point of
time due to which he could not honour the cheque.

(4) Xisnot liable.

71. LEGAL PRINCIPLE: Everybody is under a legal obligation to take
reasonable care to avoid act or omission which he can ioresee would
injure his neighbour. The neighbour for this purpose is any person
whom he should have in his mind as likely to be affected by his act

FACTUAL SITUATION: Krishna, while driving a car at & high speed

in a crowded road, knocked down a cyclist. The cyclist died on the

spot with a lot of blood spilling around, Lakshmi, a pregnant woman

passing by, suffered from a nervous shock, leading to abortion.

Lakshmi field a suit against Krishna claiming damages.

(1) Krishna will be liable, because he owed a duty of reasonable
care to everybody on the road including Lakshmua.

(2) Krishna will not be liable, because he could not have foreseen
Lakshmi suffering from ncrvous shock as a result of his act.

(3) Krishna wiil be liable to Lakshmi because he failed to drive
carefully.

(4) Krighna will not be liable

23 P.T.O.
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72. LEGAL PRINCIPLE: lagnerance of fact is excused but ignorance of

73.

law is no excuse.

FACTS: A was a passenger from Zurich to Manila in a Swiss Plane.
When the plane landed at the Airport of Bombay on 28 November,
1962 it was found on searching that A carried 34 kg of Gold Bars on
his person and that he had not declared it in the ‘Manifest for Transit’,
On 26™ November, 1962 the Government of India had issued a
notification modifying its earlier exemption, making it mandatory now
that the gold must be declared in the “Manifest® of the aircraft.

(1] A cannot be prosecuted because he had actually no knowledge
about the new notification issued two days ago.

(2) A cannot be prosecuted because ignorance of fact is excusable
(3} A can be prosecuted because ignorance of law is not excusable
(4) A’s liability would depend on the discretion of the court

LEGAL PRINCIPLE: Any person who gives false information before
police or court is punishable under Indian Penal Code as well as
under Criminal Pracedure Code.,

FACTUAL SITUATION: Shukhi Ram a village watchman, knowing
that considerable body of strangers has passed through his village in
order to commit a dacoity in the house of Ram Vilas Singh, a wealthy
landlord, residing in a netghbouring place. Sukhi Ram has personal
enmity with Ram Vilag Singh, so he informed that Police Station next
day morning that a body of suspicious characters Passed through the

Whether Shukhi Ram committed any offence or not. .

(1) He did not commiz any offence personally because he was not
the accomplice of dacoits. '

(2) He cannot be compelled to be a party to the case to give
statement regarding the case.

{3] He is liable for committing an offence for furnishing false
information.

(4} He has fundamental rights to his persona) liberty. So he is not
liable. |
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74. PRINCIPLE: Anticipatory bail could be granted to any person who
apprehends arrest for a non-bailable offence.

FACTS: X publishes a defamatory statement against a state minister

in a local daily. Police registers a case of defamation, a bailable offence

against X. He files an application in the Supreme Court asking for

anticipatory bail.

(1) His application shall be rejected by the Supreme Court for want
of jurisdiction

(2) His application shall be rejected due to limited circulation of the
newspaper

(3) His application shall be entertained by the court as it involves
the denial of personal liberty of X

(4) His application shall be returned as non-maintainable.

7%. Y makes an attempt to steal some jewels by breaking open a box and
finds, after opening the box, that there is no jewel in it. Choose the
appropriate answer.

(1) Y is not guilty of attempt to theft because the box was empty
(2) Y is guilty of attempt to commit theft

{(3) Y is guilty of trespass

(4) Y is not guiilty of any offence

Directions: ( Question No. 76 to 78) given below are a few foreign
language phrases that are commonly used. Choose the correct
meaning for each of the phrascs.

76. Actus Reus
(1) Wrongful Act (2} Painful Act
(3) Full of action (4) No action

7. Amicus Curiae
(1) Special Court {2) Friend of Friends
(3) Friend of the Court (4) Judge of a Court
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78.

79'

80.

81.

82,

83.

Caveat Emptor

(1) Let the Purchaser be éarefree
(2) Let the Purchaser beware

(3] Let the shopkeeper carefree
(4) Let the shopkeeper beware

Directions: (Question No. 79 to 83) select the word that is spelt

correctly.
(1} Stipulation {(2) Stipulsion
(3) stepulation (4] Stipulason
{1} Desparage - (2) Disparaj
{3} Disperage (4) Disparage
(1} Admonishe (2) Admoneesh
(3) Udmonish (4) Admonish
(1) Emegrate (2) Emigraie
(3] Imegrate (4} Imigrate
(1) Bicarious (2) Vikerious
{3} Vicarious (4) Ycarious

Directions: ( Question No. 84 to B8) Choose the word which is most

nearly the opposite in meaning to the Italic word from
the given options,

Ambiguity
(1] Affability {2) Lucidity
(3) Necessity (4) Basal

a8
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85. Benign
(1) Malevolent (2) Blessing
(3) Benevolent (4) Curse
86. Oblivion
(1) Memory (2) Comely
(3) Comfrey (4) Bijou
87. Braggart
(1) Modest (2) Harangue
(3) Adept (4} Competent
88. Garrulous
(1) Loquocious (2) Talkative
(3) Quiet * {4] Weary

. Directions: ( Question No. 89 to 93) Choose the word. ana.lugoua or
nearest in meaning given in the italic word.

89. Lassitude
(1) Lethargy {2} Puritan
(3) Energy , (4] Meeting
90. Utopia
{1} Holiday (2) Music
{3) Vacant (4) Perfect State
91l. Eguivocal
{1) Resistance (2) Questionable
(3) Actual (4) Fall apart

92. WMPE ration
{1} Moisture (2) Parallel
{3) Malediction (4) Recover
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93. Apprehension
(1) Gratitude (2) Apology
(3) Dread (4) Punishment

Directions: ( Question No. 94 to 108) Read the passage given below
and select the best option from the four alternatives given
below.

PASSAGE

There is more than modicum of truth in the assertion that “a working
knowledge of ancient history is necessary to the intelligent
interpretation of current events®. But the sage who uttered these
words of wisdom might well have added something on the benefits of
studying, particularly, the famous battles of history for the lesson
they contain for those of us who lead or aspire to leadership. Such a
study will reveal certain qualities and attributes which enabled the
winners to win and certain deficiencies which caused the losers to
lose. And. the student will see that the same patterns recur
consistently, again and again, throughout the centuries.

94. A person who aspires (o lead could learn from the history of battles
(1) What led the previous leaders win a battle
(2) What made them lose a battle
(3) The qualities and deficiencies of commanders of these battles
(4) The strategies that they have evolved on course of these battles

98. [n this context, * intelligent interpretation of current event® means
{1) Rational explanation of events
(2) Appropriate understanding of events
(3] Intellectual outlook on events
(4) Skilful interpretation of events
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96. The expression “ more than a modicum of truth® means:
{1) Some truth
(2) Much truth
(3) More than a small amount of truth
(4) Nothing but truth

97. A knowledge of history is necessary to interpret current problems
because:

{1} They have roots in the past

{2) They can be contrasted with the past events
{3) They may be repetition of past events

(4) Only then they can be put in a proper context

PASSAGE

The strength of the electronics industry in Japan is the Japanese
ability to organize production and marketing rather than their
achievements in original research. The British are generally recognized
as a far more inventive collection of individuals, but never seem able
to exploit what they invent, There are many examples, from the TSR
Z hovercraft. high speed train and Sinclair scooter to the Triumph,
BSA and Norton Motorcyele which all prove this sad rule. The Japanese
were able to exploit their strengths in marketing and development
many years ago, and their success was at first either not understood
in the West or was dismissed as something which could have been
produced only at their low price. They were sold because they were
cheap copies of other people’s ideas churned out of workhouse which

was dedicated to hard grind above all ¢else.

98. The sad ruled mentioned in this passage refers to:
(1) The inability of the Japanese to be inventive like the British
(2) The inability of the British to be industrious like the Japanese
{3) The lack of varicty in Japanese inventions
(4) The poorer marketing ability of British
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99. The TSR Z havercraft, high speed train, Sinclair scooter etc. are the

symbols of’
{1} Japanese success (2) British failure
(3] British success 4) J_apancsu failure

100. According to the passage, prosperity in industry depends upon :
(1) Productivity (2) Inventiveness
(3) Marketing ability (4} Official patronage

101. The main theme of this passage is :
(1} Electronic industry in Japan
(2} Industry comparison between Japan and British
(3) The role of marketing efficiency in industrial prosperity
(4} The importance of original research in idustry

PASSAGE

The study published in the journal Science, aims to give a global
overview of Earth’s temperatures over the past 11,300 years- a
relatively balmy period known as the Holocene that began after the
last major ice age ended and encompasses all of recorded human
civilization.

Scientists say it is further evidence that modern-day global warming
1sn’t natural, but the result of rising carbon dioxide emissions that
have rapidly grown since the industrial Revolution began roughly
250 years ago. Scientists say that if natural factors were still governing
the climate, the Northern Hemisphere would probably be destined
to frecze over again in several thousand years. Instead, scientists

beliecve the enormous increases in greenhouse gases caused by
industrialization will almost certainly provent that.

It’s taken just 100 years for the average temperature to change by
1.3 degrees, when it took 5,000 years to do that before. By the end of
the century, climate warming models predict an additional increase
of 2 to 11.5 degrees, due largely to carbon emissions, the study noted.

32
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102. ‘Balmy’ mecans :
(1) Cool (2] Warm (3] Hot (4) Cold

103.The Earth’s temperature has increased guickly since :
(1) The Holocene (2) The Northern Hemisphere
(3) The Industrial Revclution (4) 1,500 years ago

104, ‘Prevent’ means :
{1} Encourage (2) Stop
(3) Slow (4) Complete

105.The average temperature of the Earth has changed with a .........
Pace :

(1) Very slow (2) Slow
(3] Moderate (4) Very fast

106. Principle: Proposal must be made known. If onc does not know of
the proposal, there is nc acceptance and if there is no acceptance,
there is no contract.

Facts: The son of X’ was lost. His servant Y’ went from the place in
search of the lost son. After the servant had left X’ advertised by
printed handbills and promised to give a prize of Rs. 40,000/ - to the
person who would find out his son. ¥’ did not know of this. He founa
out the lost son of X’ and demanded the prize,

(1) ‘Y’ is not entitled to the prize

(2) Y’is entitled of the prize

(3) What Y’ did was acceptance of the proposal by doing an act
{4) Both (2) and (3)
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107. Principle: Where both parties to an agreement are under a mistake

as to a matter ot fact essential to the agreement, the agreement is
void.

Fact: ‘A’ agrees to buy from ‘B’ a horse. It turns out that the horse
was dead at the time of the bargain, through neither party was aware

of the fact.
(1} The agreement is valid as even a dead horse has certain market
value

{2} The agreement is void

(3] The agreement is void because both the parties were not aware
about the death of the horse,

(3)  Both (1) and (3)

108. Principle: Contingent contract to do anything if an uncertain future

event happens cannot be enforced by law unless and until that events
has happened.

Fact: ‘A’ makes a contract with ‘B’ to buy house of ‘B’ if A survives ‘C’,
This contract cannot be enforeed by law unless and until.

i1} "C’ permits ‘A’ to buy the house
[(2) ‘A’ kilis ‘¢’

{3 B kiils 'C’

(4) ‘C’ dies in A’'s lifetime

109. Principle: Nothing is an offence which is done by a person who is, or
who by reason of a mistake of fact and not by reason of a mistake of
law in good faith believes himself to be, bbund by law to do it.

Fact: ‘A’ an officer of a Court of law, being ordered by the Court to
arrest 'Y’ and after due enquiry, believing 2’ to be Y’, arrests ‘2",

(1) ‘A’ has committed an offence

(2) ‘A’ has committed no offence

(3] ‘A’and Y’ both have committed offence
(4] 2’ has committed offence

34
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110, Principle: When and act which would otherwise be a certain offence,
is not that offence, by reason of the unsoundness of mind of the

person doing that act, every person has the same right of private
defence against that act which he would have if the act were that
offence. |

Fact: Z, Under the influence of madness, attempts to kill A.
{1) Z is guilty of offence

{2) A has the same right of private defence which he would have if Z
were same.

{3) A does not have the same right of private defence which he would
have if Z were same

(4) Both (1) and (2)

111. Principle: Culpable homicide is not murder, if the offender whilst
deprived of power of self-contest by grave and sudden provocation,
causes the death of the person who gave the provocation, causes the
death of the person who gave the provocation,

Fact: Under the influence of passion excited by the provocation given
by Y’ ‘X' kills 'Y’s wife :

{1} X'is guilty of murder

(2} ‘X’ is not guilty of murder because he was acting under

provocation

{3} X'is guilty of murder because the provocation was not from Y’s
wife but from ‘Y’ himself.

(4} X'is guilty of no offence

<) P.T.O.
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112. Principle: Where a person lawfully does anything for another person,
or deliver anything to him, not intending to do so gratuitously and
such another person enjoys the benefit thereof the latter is bound to
make compensation to the former in respect, or to restore the thing
so done or delivered.

Fact: ‘A’a tradesman leaves goods at B's house by mistake. ‘B’ treats
the goods as his own and uses it. Is ‘B’ bound to pay ‘A7
(1) No, because ‘B’ never agked ‘A’ to leave the goods

(2) Yes, because ‘A’ did not intended to leave goods at B’s house
gratuitously

(3) No, because ‘A’ leaves the goods at B’s house due to his own
mistake

(4) Both (1) and (3)

113. Principle: Violation of Legal Right, with or without damage gives
rise to a tort -

Fact: ‘A’ establishes a cuachmg class and charge Rs. 5000 per year
as fees. A’s neighbour ‘B’ establishes another coaching class there by
creating a competition. This forces A to reduce his fees to Rs. 3000

per year,
Can ‘A’ claim damage from B’ for the loas caused to him?

(1) Yes, he can as ‘B’ has violated his legal nght
(2) No, A has reduced the fees on his own

(3] No, because though there was damage there was no legal injury
{4) None of the above!
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114. Principle: Whoever, delivers to any other person as genuine any
counterfeit currency which he knows to be counterfeit, but which he
did not know to be counterfeit at the time when he received it is
guilty of an offence.

Facts: One day while returning from market Mrs, X notices a
counterfeit currency note of Rs. 500 while counting the remaining
money. Mrs. X returns to the same shop where she got the counterfeit
currency with a view to get rid of that note. She buys a gift worth
Rs. 355 and passes the fake note to the cash counter, The cashier
inspects the note and realizes that it is counterfeit. He calls the police.

(1)
(2)

(3)
(4)

Mrs. X is not guilty because she was attempting to returp the
counterfeit note to the same person from whom she received it

Mrs. X is not guilty because she neither manufactured the
counterfeit note nor did she circulate it with a view to deseive
anybody

Mrs. X is not guilty because she attcmi::‘ed to deliver a counterfeit
cuirency note as genuine which she knew was counterfeit,

Both (1) and (2}

115. Principle: A consumer is 4 person who buys any goods or services
for a consideration and uses the goods for non-commercial purposes,
Exclusive use of the goods for the purpose of carning his livelihood,
by means of self-employment is not congidered as commercial use. A
consumer can approach a consumer forum if there is a deficiency in
goods or service.

Facts: ‘A’, a taxi driver received a car music system for free, from an
clectronics company through a draw of lots and installed the same in
his taxi. Sometimes later, the music system stopped working. ‘A’
approached the electronics company for a replacement but the
company kept delaying. Can ‘A’ sue the company in a consumer forum?

(1)
(2)
(3)

(4)

Yes, ‘A’is not using the music system for any commercial purpose,
He is just plying a taxi for earning his livelihood

Yes, ‘A’ can sue the Company as there is deficiency in goods
since the music system became nonfunctional

No, ‘A’ is using the taxi for ferrying passengers which is a
commercial purpose. Hence he is not a consumer

No, ‘A’is not a consumer since he has not paid any consideration
for the music system.
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116. An act that applies to a period before the Act is passed is called '

(1) Prospective legisiation (2) Retrospective legislation
(3) Status quo (4) Stare decisis

117. Which of the following legal terms means ‘outside the power of'
(1) Ultr valorem {2y Ultra vires
(3] Intravires 4) Wt supra

118, A friend of court’ appointed to assist the court in a proceeding is
referred to as :

(1) Alieni juris (2) Affinitas
(3) Amicus curiac ' (4) Animo furandi

119. Who among the following was credited with drafting of the Indian
Penal Code :

(1) Sir Dinshaw Mulla (2) Lord Macaulay
(3} Dr. Harisingh Gaur 4) Kenny

120. ﬁ.i legislative proposal introduced in either house of Parliament is
called :

(1) Bill (2) Act (3) Ordinance (4) Statute

131. A written statement under an oath, which is sworn ta and signed by
person making it, as true is called :

(1) Affinity (2) Affidavit
(3) Agreement {4) Statement

122.Releasing an arrested person after taking bond or sureties that he
will regularly attend the court and face trial is called :

(1) Bailment (2) Bailiff (3) Bail {4) Bailout

123.The essential ingrediants of a crime are :
(1) Motive, mens rea and actus reus
(2} Motive, intention and knowledge
{3} Mens rea and actus reus

{4) Knowledge, intention and action
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124.Te reasoning of a judicial decision or a principle laid down in a case
by court is called :

(1) Res gestae (2) ratio legis
{3] ratione privilegii (3) ratio decidendj

125.0n whom lies the burden of proof where there is a plea for self-

defence :
{1} Prosecution (2} Complainant
(3) Accused | (3) State

126. Administrative law js concerned with the powers of the :
(1) Executive (2) Judiciary
{31 President (4) Legislature

127. Unliquidated damages means :
(1) Damages to something solid
{2) Damages caused by a firm which has gone in liquidation
(3) Damage to a firm in the hands of receivers
(4) Damage to be assessed by a Court as these are no per-determined

128. Assault and nuijsance are .
(1)  Wrong under criminaj law
(2) Wrong under tost
(3] Wrong under both tort and criminal law
(4} Not considered wrong

129.In tort, the remedy is ;

(1) Punishment (2)  hquidated damages
(3) Unliquidated damages (4) Judicial review

(1) Arbitration (2}  Conciliation
{(3) Flea-bargaining 4}  Mediation
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131. Three sets of English, Mathematics and Science books containing
336, 240 and 96 books respectively have to be stacked in such a way
that all the books are stored subject-wise and the height of each
stack is the same. The total number of stacks will be ? ‘

m,nﬁmtﬁf&ﬁﬁa&gﬁﬂ%aﬂﬁafmﬂmﬂ: 336, 240
qﬁ%gm%?,mamwwm%ﬁiw%ﬂﬁww
wﬂawwaﬁqﬁMﬁrw&ﬁmﬂaﬁﬁwM?

(1) 14 2] 21 (3) 22 . {4) 48

132.Fresh fruit contains 68% water and dry fruit contains 20% water.
How much dry fruit can be obtained from 100 kg of fresh fruits ?

(1) 32 kg (2) 40 kg (3) S2kg (4} 80 kg

aﬁmﬁesnﬁmmﬂﬂm%ahqamﬁzommm
tlwmcgaﬁtsaﬁmwmwﬁmmn?

1) 32fmo  (2) 4ofEme (3) 52 fme  (4) 80 femro

133.The manufacturer of a certain itern can sell of he can produce at the
selling price of Rs. 60 each. It costs him Rs. 40 in materials and
labour to produce each item and he has overhead expenses of Rs.
3000 per week in order to operate the plant. The number of units he
should produce and sell in order to make a profit of at least Rs, 5000
per week, is .

ﬁmtﬂwaﬁnﬁiﬂﬂﬂﬂ&wzﬁﬁmwﬁﬁa
e aaT &\ TF T % Freior By A I® Fey W o Rl B
qaﬁmmnﬁmqﬁaonoﬁonﬁfmmﬁwq%mﬁwﬁ
Elﬂmﬁféﬁsoooaanﬁrmm%ﬁ'&aﬁhﬁ%ﬂamﬁﬂh
HTAN BIN 7

(1) 360 (2) 400 (3) 425 {4) 450
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144 Five pens and (sur penciis cost as much ne three pene and seven
1'-enclls. Whev 12 2o ratiu of the cosr of ene pen o the wost of one
vencil?

i EERT 3a o Teeal oo g R o ofe Tt WMy "
R g S e O T TE A B A o e ¥ 7
() 43 () 13 3) 3:2 @) 5

135. Dholpur 'Express runs at an average speed of 100 km/hr and stans
for 10 minutes at the end of every 130 km, To reach a destiation
10C0 km away, 11 will take :

(1) 9 hours {2) 10 hours {3) 11 hours (4) 12 hcurs

BAYL T A otve R 100 km/hr ¥ ol 5 150 R
T P A 10 e A Ray A9 B 1000 B PR
FEATT %y &3y 3

1 G R ST o o | (31 1i "TY (4 2977

1'36& raar, vakes S heoure 48 minutes in walking 10 & certan: place and
r}dang back. He wonla Laic gaiiied 2 hows by iding Hoth ways, T
tiziie hie wuuld take tu walk both ways is :

{1} 2 hr 15 min {2) 7 hr 30 min

(3) 7 hr 45 min (4) 11 hr 45 min

T SNEH] OF T/ gAY W o Yaw aeie? oF Ree an & el
AT ® A9 goH @ & qded & 562 45 e @ g9 O 8
R JE T W 7% I 7 BT B @ g7 amgs o 8
e ward) = e &t & O 98 292 B ey ¥ | oFTT S
A G FATD TR H D o) R gug @ S=a & 7

(1) 2%2 15RMe (2) 742 30 e
8) 74¢ 45 Re (4) 1182 45 e

4 1 PlT‘o-
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137. The scores of 4 students are as s}}own below ;

8tudent A B
Marks obtained | 384 452
Max. Marks 540 500
Whose performance was the best ?
(1) A’s (2) B’ (3) C's (4} D’s
u Rt o et Preer 8 2

| el A_| B | ¢ | D
ST 384 452 570 | 480 l‘
Jeaam o | 540 500 | 700 | 660
Iqdwt # g Froad (WWERA) HE8 oresT W ¢
(11 3 = 2) @ (3) & @) T @

138. When Rajeev was born, his father was 32 years older than his brother
and his motker was 25 years older than his sister. If Rajeev’s brother
13 6 years older ihan him and his mothe: is 3 ycars younger than his
father, how old was Rajeev’s sister when he was born ?

{1} 7 years (2) 10 years (3) 14 years (4) 15 years

S TeTE W O B Y 3@ e @ oy 3us v @ 32 .
mﬁqﬁmmﬁWWﬂzsa&mﬁlw
T o Wi SEE 6 A arg # ¥ ot swh A I R
A AT T B AN S GG 987 N W F AN 7

1) 734 2) 107X (3) 1434 4) 15ad

139.A, B, C and D are four points in a plane. What is the maximum
number of line segments that can be drawn using these four points?

fpe Wwa™ 9T A, B,C, D mhg?ﬂlﬁmﬁgeﬂﬁmm
P YT @ oY o TRy 8

(1) 2 (2 4 3] 6 (4) 8

42

L]
gcollegedunlaa
India’s largest Student Review Platform

—



1SU/I17/8{1)

140.The House on a street are numbered 1, 2, 3, 4, S etc. on one side of
the street, then the numbers continue consecutively on the other
side of the street and work their way back to be opposite number 1.
If House No. 12 is opposite House No. 29, how many houses are there

on both sides of the street?

% TR} g N GEIET T B T O H 1,2, 3,4, 559 §
f5qr oy B o T B gEY O @ ae) T § | g W) 9% uied
I NTH T, wH Gear 1 3 GTEA &) ST " qer 12 2R
20 FAFA WA B, A TN B wwrAt 9 dear ¥ 7

(1) 32 (2) 36 (3) 40 (4) 44

141. On the cube in the adjoining figure, each of the following points is at
the same distance from P as it is from Q except :

B C
R iD
' Q
A
P E':/
g & "dor famy & wit Regalt &t p @ ooeh g8 B Rl # Q
# A ¥ Ry
1y A (2 B 3 C (4] D

142. Which of the following collection of letters will look the same in the

mirror ?

Prer 8 @ d ol s oy wftfers wlt & 2

(1) MAHUHAM (2) AOVZVOA
(3) HITNTIH (4 VHRTRVH

4 3 PI T.ol'
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143. In a family, cach daughter has the same number of brothers as she
has sister. Each son has twice as many sisters as he has brothers.

How many children are there in the famnily?

o oRa ¥ g% G @ 36 & 9 ¥, R w9 g0 = @)
medl & g g ¥ gfEw § Rt a2 ¥ 2

(1) 4 (2) 8 3) 6 (4) 7

144.1n an IPL cricket series, Mumbai Indians defeated Delhi Daredevils
twice, Deccan Chargers defeated Mumbai Indians twice, Delhi
Daredevils defeated Deccan Chargers twice, Mumbai Indians defeated
Kolkata Knight Riders twice and Deccan Chargers defeated Kolkata
Knight Riders twice, Which team has lost most number of times?

f1; Mumbai Indians (2) Delhi Daredevils
{3) Kolkata Knight Riders (4) Deccan Chargers

IPL e of@er 7, g I } Rl 397 Wew A @ ax
&R | 3 Al A e gPsae @ @ = s Rl 3[4
3T A I I B R TR AT | g gREE A Howar T
TESH H A A T @ BH At A Freeerar Ande agsd W
- B g BOET | HE-E A9 g9 SRy a2

(1) e ghsgw (2) Rt IwBRew

(3] TP AR TFSH (4) 3y =eld
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143. Five persons of different professions are standing in a line. One of

the two persons at the extreme ends is a teacher and the other is a
lawyer. A student is standing to the right of an armyman. A traderis
to the left of the Jawyer. The armyman is standing between the teacher
and the student. Counting from the left student is at which place?

Ri%= Zaardt % dig g ob o F @2 8 ) onfrdt Regolt #
| @2 o= B ¥ ofit qut a9t ¥ | o Rt 8 @ Y o
TEr ¥ o AN 8f 3 & ofw arer B | &, R oFf Ryt
4 @ 2 ) i ol ¥ freh g Bt Y et fem wm e
= 3

(1) 1= (2) 2~ (3) 3¢ (4) 5v

146.1n a pile of 10 books, there are 3 of science, 3 of English, 2 of economics
and 2 of History. Taking from above, there is a history book between
a sctence and economics book, a science book between an econordes
and a history book an English book between a history ang an
economics book, an economics book between two English books and
two English books between an economics and a science book. Suok
of which subject is at sixth position from the top?

(1) History (2] English (3) Economics (4 Suience

Tq gETht & 92 §, &7 R, di9 iR, @ srdamen vy @ sfaem
% gs ) Sqlad W92 H o R @@ srdar @ Yeam @ dvr
T gferd W IE, % stdue o e # gras & 4m s
eI B RS o sRer T sl ¥ gers @ Ay op st
H JEE o & Ii0eh B gert @ da o onfaren @ yeaw o
HINEA oF R i g B A D ool | T e wd @
SR & 6% i 9T Reu Rvy &t gwas & 7

(1) zfem (2) I (3) efomrew (4) foremy

48 PiTIOt
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147.Six student participate in a 400- meter race :
Ram finished after Amar and 2 other atudents
Amar finished after Sameer
Firoz finished before Sameer
Vinod finished before Hari
Who came {ifth?
(1} Ram {2) Amar (3) Firoz (4) Vinod

400 WMot &t Az ¥ e w=t A W R ¢

I F oY Ud & o Reiddt & ax A ¢ @

T R TR B ax AT g A

fRpast 3 ¥R & qedr i g &Y

P 3 st 3 o &t g8 A

qied W 4T A oI

(1) W 2) ST (3) forTor (4) X

148.A man is facing towards east and turns through 45° clockwise again
180° clockwise and then turns through 270° anticlockwise. In which
direction is he facing now?

{1} West | (2) North-cast
(3) South (4) South-east
@ T S g A R F Yo w @ ¥, A 35 45° Sfdvomrt
(e amEw) SR Tt 1800 Fftvemert (e ampor) yoen B v Rew

270° 5 & IeN Rwwr (T Fomn avgon) Raw # grew ¥ o ony v
Rm A fe st o1 ¥ ’

(1) qﬁﬂq (2) IA-gW@
(3) &f&or : (4) gy

S
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149.At 1.45 p.m the hour hand will be in the direction of :

(1) North-west (2) South-east
(3) West (4) North-east
1.45p.m O &2 & g& & Raw &y :

(1} So-aRem (2) =Ry
(3} uiEw (4) TE-YRS

180, Which of the following nets cannot be folded to form a cube ?
Frv ¥ & Prm e &Y AigsT w9 (g®) 18 T=mn o awen & 7

O

m ' (2)

(3) (4]
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(F% GIEIET 3 SUT STUTVT YO OT AW IWT-TF & @9 qet ov
dwer Feft-wrvlt wror-unye 37 ] & fra)

I A e fred & 1o B & o ¥ 38 W fi6 e F oft g st # oo
m@wﬁtmaﬂmwﬁwﬁmm:ﬁmmwﬁmﬁmw
TEqT # R gfers N 3 A
e waT § Moo 7w wdw-ox & sivftw, T @ wig) S ot e Fw /e
5 T T
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&0 3we-o¥ 1§ geerEs e W

4. A STEAE A0 IR-TT T B T WE@O-9E R/ I F Mty mA o o)

5 19 91 & RO 8 9T 97 @ FGH JqwE gl w3 ov e var IR 4@ o w

w7 & wyl- ot srevew B gl TYR- iAW & wTE wor de %1 TAT W orR)
ot Rved)

6. I Yo STTe WX UT IV WOR, WSt Hky ¥ ov vher (aft B wh wev
rygATEY U7 JwEE ST WMo Qo Mo aF aERT H ol 8 JuftAtER  Ag
it

7. ¥ wiwley) ¥ ey o aftadv He Friwe gy Rt $19T wnEe Fow 9y Q@ Ia
WrOT W g9 W R

'8 qpv-gfevwr ¥ yndw ova & e 4G 3wt fd mi i T T & SeRE i ¥ e
FTTE INT- o W} Wl oy ¥ wd R R 9w ) -9 & Y9m 7S Uy fw W
v & sqerc s R M s b

o, §R% IV & 300 & fo e 0% @ 99 @ M U @ ¥ e 36 w5
T HYET UF T W gl w3 W §% I A WA SR

10. o ¥ s T o ay? I Sifew 3T wyen T o awm i oy T R ave W awm
10 g ¥ ot gt O & T i o et oY St et oty &) R ST
yw &% ol

L mm%mm-m%wtmmwww-gmﬁmw
F AT W

11, 90w & SN a7 N Tw STv INT- oW G0N wae ¥ I AR ¥
13, Gl gue WR ® o vl e @ R I 8t anqefa Al e

14 g = sl Tien ¥ s el W i awen €, A e Prvafrores g fifa
£% FHF, W BRI
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